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General Instructions:

1. All questions are compulsory.
2 The question paper consists of 31 questions divided into four sections A, B, C and

D. Section-A comprises of 4 questions ©Of 1'mark each; Section-B comprises of 6
questions of 2 marks each; Section-C/comprises of 10 questions of 3 marks each

and Section-D comprises of 11 questions of 4marks each
3. There is no overall choice in this question paper.
4. Use of calculator is not permitted.
FUS-3 / SECTION-A

v G 1 94§ T&F $1 1 3% 21
Question numbers 1 to 4 carry onexmark each
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Two polygons having same number of sides and corresponding sides proportional are similar

or not ?
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I sec2A = cosec (A - 36), A A #1971 7 FT)
If sec2A = cosec (A —36), find A.

3 miﬁmﬁﬂﬁﬁf@q:s&@ﬂ————%——-
cosec-0-1
1
. . » . — ——
Write the expression in simplest form : sec20 v, NG
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Find the sum of upper limit an
of the following data lies :

0—100 | 100200

Class interval

Frequency 5 J

wva @ 5 A 10 WEAF & 2 HHE
Question numbers 5 to 10 cafTy two miarks each.

=US- / SECTION-B

5 mﬁmmm%mwmﬁm:

Write the decimal expansion of 122;0 without actual division.

Wqﬁﬁwa@ﬂ;wmw#ﬁﬁ%%mmm%? T ISRV H GEEa @ ARl 2

What is the condition for the decimal expansion of a rational number to terminate ? Explain

with the help of an example.
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If «and B are zeroes of the polynomial x2—p(x+1)+¢ such ; l
the value of ¢, Pl R +e 1)

fUme e A A A o e 2 T T A A e 2
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State which of the two triangles given in the figure are similar. * Also state the similarity

criterion used.

A

P i L

9 fag FIfgT :

2
}_tjh_r.l—zé-=mn2A
1+cot“A

Prove that:
1+tanZA 2
A =t@mn A

1+c0t2A

10 qa;f@mgjtgmza@mﬂoﬂa’iifmzm@%mﬁaﬁﬁm%aﬁﬂﬁw%:
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llows:

" is as fo
Data of ‘missed catches’ for the 40 matches played by a player IS

Number of missed catches in a 03 |36 [69 |9-12 12-15
match

Number of matches 15 |16 |3 1 2
Calculate the mean number of catches missed by him. W e

TITE-H / SECTION-C
W HWEAN 11 R 20 F wkw % 3 7% ¥

Question numbers 11 to 20 carry three marks each,

11 wwﬁﬁﬂwmmmﬂ&q#amanwmmv&hmt? A Ioftiy demei w1 3
quﬁmm%mmma?mmwm.

Is product of a rational number and an irrational number, a rational
number ? Is product of two irrational numbers a rational number or irra tional number ?
Justify giving examples.

12 a9-7vA fafy @ v wifag 3
Sx+4y—-4=0
x—=12y—20=0
Solve using cross multiplication method :

Sx+4y—4=0

x-12y—20=0

13 9gueer —44x’ +6xr—3 F TR —3r+1 ] WM T WIS 41 3 J Ffore aur favem 3
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Divide the polynomial gy

! o
—44x - :
algorithm, +6x=3 by the polynomial -t!'-3x+1 and) Verif.

SR T R -

15

16 Mmmm,m:zsmzuwnﬁwﬁmawﬁmmmmﬁs3
CAXxMP=PA xBC¥|

Pr

A B M

AABC and AAMP are two right angled triangles right angled at B and M respectively. Prove
that CA x MP=PA x BC:

P
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08 of the angle
GivensinA =2 find the othe? gonone
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sinA=26in"A _ o 5}
2005°A —cOsA s b s DR
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Prove that : : 7 .‘;L"% L A o
Vg N T
sinA —2sin°A _ —
2om“iA—-oo.sA
19 frey siarear W2 w1 e e wifa : -
i 1030 | 3050 |50-70 [ 70-90 / -110 /
TWARA (15 (18 (25 10 fz /
Calculate the mean for the following fréquency distribution :
Class 1030 [30-50 | 50-70 }.70-90 I 90-110 I
Frequency |15 18 25 10 ’ 2 I
20 & FuT & 150 Pl &1 Ana 9977 60 kg &1 TSI 1 AL F9T 70 kg R wfHFA F155kg #1 3
Fe 3 e 3t TSfrdl S HEA W Hifaw
The mean weight of 150 students in a class is 60 kg. The mean weight of boys is 70 kg while
that of girls is 55 kg. Find:the number of boys and girls in the class.
>
TUT-T / SECTION-D %:__ ? Z
e WA 21231 F WAF F 4 3F T 1'% Y55
£ ]
Question numbers 21 to 31 carry four marks each. .9 BT Ty
Kkb O ’;"’ B E =
50428 § LS =g 35
NSOTS-E. .
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Show that /3 is an irrational number.

frefafea as witedl ¥ qm =1 anda wifaw)

x+3y=6 311'(2:—-33;:.12
A Byl F Aawal § Wt U T S St FF v, cs0al y =0 @ gEd Y, 1 =0
Wy =0% 9= = gu

Draw the graph of the following pair of linear equations ;

x+3y=6and 2x-3y=12
Find the ratio of the areas of the two triangles fornied by'fifst line, r=0, y=0and second line

x=0,y=0

TR - 23— 722+ 8x+12 & A YEF— 1702 &1 7wk 9 4 9 FQ

Find all other zeroes of the polynomial x4 —2x3—7x2 +8x+12, if two of its zeroes are —1 and

2

YRE ¥ TS 9 F) QR gug s frenfidi @ gen i Ao 1 % wfeg F et vard €2 4
o faraedf X 3R e e e F W SwE 51 S T ¥, s gEt e ¥ w1 e wa d W
1 T siv iRy # @isi # G Ht 4 27 &) il F 7w A Q= A e T

§ gafaq it wfew § i shEen 3@ i

e A ufe 1 R HEe § 2

While teaching about the Indian National flag, teacher asked the students that how many lines
are there in Blue colour wheel ? One student replies that it is 8 times the number of colours in

the flag. While other says that the sum of the number colours in the flag and number of lines
in the wheel of the flag is 27. Convert the statements given by the students into Linear

Equation of two variables. Find the number of lines in the wheel.
What does the wheel signifies in the flag ?

AABcﬁ,AaﬁtBﬁADaﬂzBEwﬁa'a@TéW%: fag FfT f AADC ~ ABEC ®1 1 AADB 4
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_ AAEB 3 AADB ~ AADC &7

wn. P
In AABC, from A and B altitudes AD and BE are dra

~ AAEB and AADB ~ AADC?

= 31'I'(AC=
26 feq e fam ¥ AP=3 cm, AR=4.5 an, AQ=6 cm, AB=5cm

ARQ 3R ar ADC T 3T T FFAL

A
PAIR Q
i
B D C

ove that AADC ~ ABEC. Is AADB

{0cmd MAD T ar 4 -

G
"
€

In the given figure, AP =3 cm, AR =45 cm, AQ=6 cm, AB=5 cm and AC=10 cm, then find

AD and ratio of areas of ARQ and ADC.

A

B D C

‘N\ JfE sin(A + B) =sinA.cosB + cosA.sinB 3K
cos(A —B) =cosA.cosB +sinA.sinB
@ (@) sin75 T (i) cosl5 WA I ST

If sin(A + B) =sinA.cosB:t+ cosA.sinB and
cos(A —B) = cosAscosBisinA sinB

Find the valueof (i) sin75 (ii) cosl15

28 fag wifse fa

2 sin®
(tanB + sec ~1). (tanf + 1 + secd) = S"T
1 - sin®
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(tan@ + secB —1). (tan0 + 1 + sech) = 2 sing
1- sing

20 fazFf:

4
Vsec?0+ cosec?0 =(tan0 +cotd)

Prove that:

J&ECZG +cnscc20 =(I:anﬂ +C0tﬂ)

30w i ¥ 50 WRanl  wewd # wem, Froy i 3979 it 8 - p
L= S
11- 13- 15- 17-
y 13 (35 |57 |79 |oa1
HEAl 13 15 17 19
qf@Eri @i
- 2 |8 |6 Jaon |5 |5 |7 |4 |3
IQaa AH3| H qECTF AT WA [ FIHAG |
In a village, number of members in 50 families are given in the following frequ
distribution : ency
Number of . 11- 13- 15- 17- :
members BN |7 (o1 13 15 17 19 “
Number, |, 8 6 10 |5 5 7 04 |3
of families

Find the mode and'mean of the above data, i

N\ .
C"\_ d /—\ (‘E\'

31 ﬁmﬁﬁamﬁmﬁw*somaﬂ%ﬁmmﬁ:@m%t A TFRF (‘FHUPK F' 4
qa7 ¢ sifre W F1') A wifag )

Page 9 of 10

Scanned by CamScanner



e e
()
m—?ﬁm 12 14 8 \5

Draw
The following table gives the daily income of 50 workeérs of ‘a factory.
<S-\ than type” and “greater than type”) ogives
100—120 [ 120—140 ‘ 140160 \ 160—180 \ 130—20(j

—200
100-120 | 120140 140—160 160—180 | 180

\w

both types (“less

Daily income (in %)
Number of workers | 12 \ 14 \ 8 \ 6 \ 10 \
~0000000-
Page 10 of 10

Scanned by CamScanner



